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Worksheet 1112 (Total number of points you can get is 3 pts) 
1. An ideal solution of 3 mol of A and 2 rnol of B is at 300K in equilibrium with
vapor. At Lhis lemperatu.rc, P"A = 2.5 bar and P'n = 3.0 bar. What is the mass 

percentage of A in the vapor ph,ise? (molar Mass of A (BJ: MA= 50 g/mol; Mn=
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 At T-330 I( a liquid solution of 0.5 mol fraction of A and O.S mol fraction
of is in equilibrium with vapor. A and 8 arc miscible and the vapor 
pressure of the solution is 1 bar. The composition of the vapor is 0.65 mol 
fraction of A and 0.35 mol fraction of 8. What would be the vapor pressures P'•
and p·" of the pure components A and 8 at this temperature?
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3.The ratio of a component A to water collected in a steam distillation is4, when the mixture 
was boiled at 344 K and 80 kPa. If the vapor pressure of water at this temperature is 43.2 
kPa, calculate the molar mass of A (molar mass of water: 18.02 g/mol
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